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R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
1 100kN/m##B %% 1.00{0.00 ~ 2.65 141.70| 3m%x#%%[0.00 ~ 1.70| 3.68 19.71| 100kN/m#%#B 2% 1.00] 11.58 ~ 59.50 141.70|3m%x#Z 5| 40.00 ~ 59.50 3.68 19.71
s 1.00] 2.65 ~ 1043 100.00f Z=h st |1.70 ~ 10.43] 3.00 16.05 s 1.00] 5.00 ~ 11.58 100.00| =hList | 500 ~ 40.00| 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 256 140.24|3m%x#%%(0.00 ~ 1.67| 3.67 19.61| 100kN/m#%#B 2% 1.00] 11.71 ~ 55.93 140.24| 3m%x#2Z 5| 40.00 ~ 55.93| 3.67 19.61
s 1.00]2.56 ~ 10.35 100.00f Z=hlst | 1.67 ~ 10.35| 3.00 16.05 s 1.00] 500 ~ 11.71 100.00| =hList | 500 ~ 40.00| 3.00 16.05
3 100kN/mM##8 %% 1.00{0.00 ~ 245 138.40|3m%*x#%%(0.00 ~ 1.63| 3.65 19.51| 100kN/m#%#BZ% 1.00| 11.87 ~ 50.72 138.40|3m%x#x 5| 40.00 ~ 50.72 3.65 19.51
s 1.00]2.45 ~ 10.24 100.00f Zh st | 1.63 ~ 10.24] 3.00 16.05 s 1.00] 5.00 ~ 11.87 100.00| =hList | 500 ~ 40.00| 3.00 16.05
4 100kN/m##B % % 1.00{0.00 ~ 2.80 144.23|3m%x#8%5[0.00 ~ 1.76 3.72 19.91| 100kN/m#%#B 2% 1.00] 11.33 ~ 51.93 144.23|3m%x# 25| 40.00 ~ 51.93 3.72 19.91
s 1.00]2.80 ~ 10.58 100.00f Z=h st | 1.76 ~ 10.58| 3.00 16.05 s 1.00] 500 ~ 11.33 100.00| =hList | 500 ~ 40.00| 3.00 16.05
5 100kN/m##B %% 1.00{0.00 ~ 3.19 150.90| 3m#*x#%%[0.00 ~ 1.05| 3.47 18.58| 100kN/m#%#B 2% 1.00] 10.83 ~ 46.48 150.90[ 3m%#£2Z 5| 40.00 ~ 46.48| 3.47 18.58
s 1.00] 3.19 ~ 10.97 100.00f Z=h st |1.05 ~ 10.97| 3.00 16.05 s 1.00] 5.00 ~ 10.83 100.00| =hList | 500 ~ 40.00| 3.00 16.05
6 100kN/m##8 %% 1.00{0.00 ~ 256 140.26| 3m%x %% -~ - - —| 100kN/mM%Z#BZ % 1.00] 10.75 ~ 24.77 140.26| 3m%#BZ % -~ - - -
s 1.00] 2.56 ~ 10.35 100.00f Z=h 4t | 0.00 ~ 10.35| 2.59 13.85 s 1.00] 5.00 ~ 10.75 100.00| =hList | 500 ~ 24.77| 259 13.85
7 100kN/m##B %% 1.00{0.00 ~ 1.96 130.29| 3m%*#BZx % -~ - - —| 100kN/mM%Z#BZ % 1.00] 11.08 ~ 20.85 130.29| 3Im#F#BZ 5 -~ - - -
Lo 1.00/1.96 ~ 9.75 100.00f Z=h st |0.00 ~ 9.75| 253 13.51 Lo 1.00] 5.00 ~ 11.08 100.00| =hList | 500 ~ 20.85| 253 13.51
8 100kN/ Mm% X % 1.00{0.00 ~ 0.16 102.29| 3m%E#B 25 -~ - - —| 100kN/mM%#BZ % 1.00] 1249 ~ 13.13 102.29| 3m%EH#BZ 5 -~ - - -
Zh st 1.00/0.16 ~ 7.94 100.00f =1 A4t |0.00 ~ 7.94| 1.94 10.38 s 1.00] 5.00 ~ 1249 100.00| =nlist | 500 ~ 13.13] 1.94 10.38
100kN/ MZ#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/mM%#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~
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